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Assessment 1 2011

Question1 (16 Marks) Marks

Covert 1.60 to a fraction in its simplest terms. 2
L 27 x3™?
Simplify T xGET 3
Factorise fully
i) 8x' —125 1
(i)  X’y—4x*-9y+36 2
Simplify _ 2 2
X*—1 x> —X
2 11 .
Show that + can be expressed as a rational number. 3
3-V3 6+43

Given 6+ X—y:X+y+3J§fmdmewmms&rXMMy. 3

Question2  START A NEW PAGE (14 Marks)
Solve
Q) x+3+x—1=x+2 ' 3

2 3 6

(i) |x+2|=2x-5. 3
(iii) 2x> —4x—7=0, giving your answer in the simplest exact form. 2
Solve the following inequalities
@) X —x-2>0. 1
. 3
i —2=1. 3
(ii) >
(iii) 2x-3[>7 2
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Question3 START A NEW PAGE (10 Marks)

(a)

(b)

(©)

(d)

Solve x+y=23and x*+ Yy’ =29 simultaneously.

f()-f(2)
x—2

If f(x)=x"+3x+5, evaluate and simplify X#2.

By completing the square, find the centre and radius of the circle with
the equation x* —10Xx+y> +8y+32=0.
State the natural domain of the following functions

1

(1) f(x) = 7

1

(i) f00=—

Question4  START A NEW PAGE (10 Marks)

(a)

(b)

is odd even or neither.

Determine whether the function f(x)= 5
X

Sketch the following on separate number plane graphs, showing any

asymptotes, vertices, intercepts or essential features.
(1) y=+X+3.
(i)  y=4-(x+1).

(i)  y=[x(x-2)(x+2)|.

N

X_
X_

(iv) y=

V)

End of Paper.
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